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B.Sc. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Plant Biology and Plant Biotechnology — Main
PLANT PHYSIOLOGY
(For those who joined in July 2012 — 2015)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL the questions.
Choose the correct answer :
1. Absorption of water by the plants by their own
efforts, using metabolic energy is called
(a) Passive absorption
(b) Active absorption
(c) Both (a) and (b)
(d) None of these



Water stomata are associated with
(a) Transpiration

(b) Bleeding

(¢) Guttation

(d) None of the above

Hydroponics is also called as
(a) soil-less culture (b) tank farming

(¢) Dboth (a) and (b) (d) none of these

The tissue associated with organic solute
translocation is

(a) Xylem (b) Phloem

() Cambium (d) Parenchyma
Dimorphism in chloroplast is noticed in these
plants

(a) C4 plants (b) C3 plants

(¢) Both (a) and (b) (d) None of these

Glycolysis occurs in ———of cells
(a) Cytosol

(b) Cytoplasm

(¢) Electron transport particles

(d) Mitochondrial membrane
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10.

An example of root nodule forming symbiotic Ne
fixer is

(a) Obcillatoria
(b) Rhizobium

(c) Azotobacter
(d) Clostridium

The hormone associated with the closing of
stomata is

(a) Auxin (b) Gibberellin
(¢) Abscisic acid (d) Ethylene

Low temperature requirement for flowering was
first noticed by

(a) Lysenko (b) Klippart
(¢) Garner and Allard (d) Melchers
An example for long day plant is

(a) Wheat (b) Cucumber

(c) Soyabean (d) Tobacco
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Give an account on 1imbibitions and its
significance.

Or

Write a note on the components of water
potential.

Discuss the general roles of minerals in plant
nutrition.

Or

Describe the mechanism of translocation of
organic solutes.

Bring out the differences between cyclic and
non-cyclic electron transport.

Or
List out the significance of respiration.
Explain nitrogen cycle.

Or

Give the physiological role of cytokinins.

Page4 Code No.:10009 E
[P.T.O]



15. (a) Explain the mechanism of vernalization.

Or

(b) What are the differences between short day
and long day plants?

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (a) Explain the mechanism of absorption of
water by plants.

Or
(b) Discuss the significances of transpiration.

17. (a) Explain the mechanism of mineral
absorption.

Or

(b) Discuss various evidences that support
phloem is associated with translocation of
organic solutes.

18. (a) Discuss about C3 cycle.

Or

(b) Explain the various reactions of glycolysis.
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19.

20.

(a)

(b)
(a)

(b)

Discuss biological nitrogen fixation.
Or
List out the physiological roles of gibberellins.

Discuss the responses of photoperiod in the
physiology of flowering.

Or

Explain about the causes and methods of
breaking seed dormancy.
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Code No. : 10833 E Sub. Code : SMBO 51

B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Fifth Semester

Botany — Main

MORPHOLOGY AND TAXONOMY OF
ANGIOSPERMS

(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Respiratory roots are seen in the plant
(a) Ficus (b) Avicennia

(¢) Pothos (d) Piper



The standard size of a herbarium sheet is

(a) 29x41cm (b) 27x40cm

(¢ 27x41cm (d 28x40cm

The Binomial system of nomenclature was
introduced by

(a) Carolus Linnaeus

(b) Casper Baubin

(c) Bentham and Hooker

(d) Engler and Prantl

The Smallest unit of the taxonomical classification
is

(a) series (b) order

(¢) family (d) species
Monocarpellary gynoecium is the main feature of
this family

(a) Caesalpiniaceae (b) Rubiaceae

(¢) Apiaeceae (d) Cannaceae

‘Cocoa family’ is called as
(a) Caesalpiniaceae (b) Sterculiaceae

(¢) Rubiaceae (d) Apiaceae
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10.

11.

Didynamous stamens are found in the family
(a) Rutaceae (b) Amaranthaceae
(c) Lamiaceae (d) Rubiaceae
Union of Gynoecium and Androecium
Asclepiadaceae is called

(a) Syngenesius (b) Gynostegium
(¢) Gynobasic (d) Gynophore
‘Cyathium’ inflorescence is present in

(a) Lililaceae (b) Cannaceae

(¢) Amaranthaceae (d) Euphorbiaceae

Fruit of Poaceae is called
(a) Achene (b) Nut
(¢) Caryopsis (d) Berry

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a) Give a short account of fleshy fruits.

Or
(b) Write about Root modifications.

in
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12.

13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

What is meant by ICBN? Expalin.

Or
Give an account on the concepts of

classification.

Discuss the important features  of

Annonaceae.

Or
Describe the inflorescence of caesalpiniaceae

family.

List out the economic importance of

Cucurbitaceae.

Or

Describe the floral characters of Sapotaceae.
Give a brief account on fibres yielding plants.

Or
Describe the inflorescence of Liliaceae

family.

Page4 Code No.:10833 E
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PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(b)
18. (a)
(b)

What is herbarium? Explain the steps
involved in the collection of specimens for

herbarium preparation.

Or

Write an essay on the various modifications

found in leaves.

Give an outline of Bentham and Hooker’s

system of classification.

Or

Write an essay on phylogenetic classification.

Describe the characteristic features of

sterculiaceae and its economic importance.

Or

Describe the family — Rutaceae.
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19.

20.

(a)

(b)

(a)

(b)

With neat sketches, explain the floral
characters of Asclepiadaceae and Lamiaceae.

Or

Describe the characteristic features of
convolvulaceae family.

Describe the characteristic features of
Liliaeceae and its economic importance.

Or

Write a short notes on ‘Adhatoda’ and
‘Acorus’.
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B.Sc. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Plant Biology and Plant Biotechnology — Main
GENETICS BIOMETRICS AND BIOINFORMATICS
(For those who joined in July 2012 — 2015)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL the questions.

Choose the correct answer :

1. The genotypic ratio of a monohybrid cross is

(@ 31 (b) 9:7

(c) 1:2:1 @ 1:1



Incomplete dominance is seen in

(a) mirabilis jalapa

(b) Zea mays

(¢) Lathyrus odoratus

(d) Nicotiana tabaccum

Different shapes of comb in fowls is an example of
(a) Complementary genes

(b) Supplementary genes

(¢) Duplicate genes

(d) Lethal genes

The phenotypic ratio observed due to duplicate
recessive gene interaction is

(a) 12:3:1 (b) 1:2:1

© 97 (d 15:1

The components of DNA are

(a) Nitrogen base + phosphate + sugar
(b) Nitrogen base + Phosphate

(¢) Nitrogen base + Sugar

(d) Nitrogen base alone
Page2 Code No.:10010 E



10.

Which of the following is the non-sense codon?
(a) UAA () UAG

(¢ UGA (d) All the above
Measure of Dispersion includes

(a) Range

(b) Standard deviation

(¢) Mean deviation

(d) All the above

The mode of 4, 8,9, 5, 7,, 9, 9 1s

(a) 4 (b) 8

© 5 @ 9

PIR gives information about

(a) Polypeptide (b) Protein

(c) Plastids (d) Chromosomes
This is the input device of computer system
(a) Monitor (b) CPU

(¢) Printer (d) Mouse
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

Explain monohybrid cross with an example.
Or
Write short notes on Lethal genes in maize.

Explain the inheritance of comb shapes in
flows.

Or

With suitable example, explain duplicate
gene interaction.

Explain the semi conservative method of
DNA replication.

Or
Write notes on Griffih's effect.

Describe the various methods of data
collection.

Or

Write brief on standard deviation.

Page4 Code No.:10010 E
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15. (a) Enumerate the applications of
Bioinformatics.

Or
(b) Give an account on Gene bank.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (a) With suitable illustration, explain the
Dihybrid cross.

Or
(b) Write an essay on multiple alleles.
17. (a) Write an essay on dominant epistasis.
Or
(b) Write an essay on complementary genes.

18. (a) Enumerate the salient features of genetic
code.

Or

(b) Discuss the Operon concept.
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19.

20.

(a)

(b)
(a)

(b)

Write an essay on median and mode.

Or

Discuss the Chi-square test.

Discuss about Internet.

Or

Write an account on DNA data base.
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Fifth Semester

Botany — Main

MORPHOLOGY AND TAXONOMY OF
ANGIOSPERMS

(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. epdsai(hib Counser smantliL(HLD STeUFD
(1) eusan (<) eifafium
(@) CGunssmen (/)  epulium

Respiratory roots are seen in the plant
(a) Ficus (b) Avicennia

(¢) Pothos (d) Piper



CanrGuflwibd < enLudler e emey cree?

(1) 29 x41Qs.6. (<) 27 x40 Qg..5.
(@) 27x41Qs.85. () 28 x40 Qg..8.
The standard size of a herbarium sheet is
(a) 29x41cm (b) 27x40cm
(¢) 27x41cm (d 28x40cm

@@ QU@L ermerw MPsLILHSS W
(=) &Crrmevev eSleGarwen

(<) Caevum Limllesr

(&) Gupbsid LHMD aBds

(FF)  eTRIGeTT HmID LA FTeTiq b

The Binomial system of nomenclature
introduced by

(a) Carolus Linnaeus

(b) Casper Baubin

(¢) Bentham & Hooker

(d) Engler & Prantl

cuensLILM g wisdler W& A Siev,

(=) eufleons (=) gl
(®) ©Owbub () Spdlend

was

The Smallest unit of the taxonomical classification

is
(a) series (b) order

(¢) family (d) species
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(1 @EOlenEWITE @& @)&@EH LSS 6 (Lp&HEIL LiewTL]
(=) Aeo@aflCuACu (<) epACuACW
(@) FgACwACW ()  CaCeardlGw

Monocarpellary gynoecium is the main feature of
this family

(a) Caesalpiniaceae (b) Rubiaceae

(¢) Apiaeceae (d) Cannaceae

‘QarsCam @HbULD’ eTemm enp&aliLi(Heug

(<) fevQaflCuilCu (<) ELTEICLACW
(@) eBACuACw () gACwECwW
‘Cocoa family’ is called as

(a) Caesalpiniaceae (b) Sterculiaceae

(¢) Rubiaceae (d) Apiaceae

GNL_Iq GITLOGN LD&THS STETSHET &menrliLi(HLD & (HLDLLD

(=) eplCLEAGWw (=) A0TTHEsACW
(@) ColCusCw (/F)  eplACWACW
Didynamous stamens are found in the family
(a) Rutaceae (b) Amaranthaceae
(c) Lamiaceae (d) Rubiaceae
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10.

SevdHANGUCLACL  GOHbLUSHD GHOEHD, WLETHSLD
@anenTh S (HLILIGI eTeuaITn enp&ESLILI(HSME)?

(=) SHendlandlwib (<) ewsGaraviedlwid

(@) esCarGusls (/) eaCamGumm

Union of Gynoecium and Androecium in
Asclepiadaceae 1is called

(a) Syngenesius (b) Gynostegium

(¢) Gynobasic (d) Gynophore
‘epgwrsHwid’ weErsfl erdled sremriiLBEng?

(=) NLNCWwHCw (<) CalerdlGuw

(@) <wrmpGssCuw (F) W .CummaGusGu
‘Cyathium’ inflorescence is present in

(a) Lililaceae (b) Cannaceae

(¢c) Amaranthaceae (d) Euphorbiaceae
CumrGuIAGui &HbusSler &) GTeUGTM)
SmP&sILHSDS)?

(<) =rdlem (=) pL
(@) Gaflumridlen (rr)  Qumdl
Fruit of Poaceae is called

(a) Achene (b) Nut
(¢) Caryopsis (d) Berry

Page4 Code No.:10833 B
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11.

12.

13.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.
(=1) s upmieTer safl LHB o GOl 5.
Give a short account of fleshy fruits.
Or
(<)) 2 muIHOD AmLhs Ceursamer LIHM 6T(LHSIs.
Write about Root modifications.
(=1) ICBN erenmmmed eremment? elemds@s.
What is meant by ICBN? Expalin.
Or

(<) aesliumiguiedled GerudHpiLBLD CsTeTandsamarr

umm GO uenrs.
Give an account on the concepts
classification.

(=) ACamCendlCuw @HbL LiawTysamer efleuflés.

Discuss the important features
Annonaceae.

Or

(<)) AerollGarflCu GHbusder wepsfleanw LDHDH

S GOLY euens.

Describe the inflorescence of caesalpiniaceae

family.
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14.

15.

16.

(=)

GESMIALCLACW  ghbusder  Cummernsmy
WP&HwsFIuSMS ullanaiLi(hSgs.

List out the economic importance of
Cucurbitaceae.

Or
FLICUT_GCLAGW wefer LT samer allealflss.
Describe the floral characters of Sapotaceae.
Brr Qurmlser  Csrem@Herer — STeuFmIGSE6T
©hiss fy Gy 56S.
Give a brief account on fibres yielding plants.
Or

OlallCw G @HbusSHern wErsfl enwlienL
Meu&s.

Describe the inflorescence of Liliaceae
family.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(=)

CanmCuflu  eretpmed  eremmenn?  ClamTCuflwid
swurflliugne@ sreurmser CaaMa@n wpeppulen
Uig Sener el 6md:@é.

What 1is herbarium? Explain the steps
involved in the collection of specimens for
herbarium preparation.
Or
Page6 Code No.:10833 B



17.

18.

19.

(<)

@ emaaafle smewTl iU (HID uCGaum)
2 (HLIHOEIEMT LD sL_(Hen eT(gis.

Write an essay on the various modifications
found in leaves.

Qupsd OO abdsfer  euamSLILML ig 6
S(HSH NG CT(LPS)I5.

Give an outline of Bentham and Hooker’s
system of classification.

Or
@ar 2me| eafl eamsiurligemer LDMO 6
S (HenTT eT(LPGIS.
Write an essay on phylogenetic classification.
V6L T@eN Cwd G GH UGS er QurgLs
LIGHTL| &6 LOHMID DG6T QumrperTTgTy
W&EwSgHeuD LD cdleTéEs.
Describe the characteristic features of
sterculiaceae and its economic importance.
Or
LG8 @hbusdeaers unm aleulstlspgis.
Describe the family — Rutaceae.
uLmisatlenr 2 gafluyLenr  SevSlelNuGCLACW
oomn  mOCWHACW  waflear  ojawliLsmer
cMlemd: @s.
With neat sketches, explain the floral
characters of Asclepiadaceae and Lamiaceae.
Or
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20.

(<=4)

seneumee]CaslCu  @Hbusder  LaTLSmer
eleuflsEsps)s.

Describe the characteristic features of
convolvulaceae family.

MGG GOHbusHen  ClumgliLicwTLseT

LHMID AFem GUTHETTSTY (PSS LSFHeuDd LHM
Nourflgs.

Describe the characteristic features of
Liliaeceae and its economic importance.

Or
‘L rGgrr womib ‘HCasrrev’ ubHdl Smn @GoliLy
CT(LPGIS.

Write a short notes on ‘Adhatoda’ and
‘Acorus’.
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B.Sc. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Plant Biology and Plant Biotechnology — Main
Major Elective — IIT — COMPUTER APPLICATIONS
(For those who joined in July 2012 — 2015)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL the questions.
Choose the correct answer :
1. ————— computer 1s a combination of

desirable features of both Analog and digital
computer

(a) Super

(b) Mainframe
(c) Hybrid

(d) None of these



input device records hand position

and orientation as well as finger movements

(a)
(©

()
(b)
(©
(d)
An

track ball (b) space ball
data glove (d) mouse

1s an expansion of DDL
Data definition language
Data definition logic
Document definition language
Data domain language

advantage of the database management

approach is

(a)
(b)
(©

(d)

data is dependent on programs
data redundancy increases

data i1s integrated and can be accrued by
multiple programs

All of the above

How many types of topologies networks?

(@)
(©

5 (b) 4
6 @ 7
Page2 Code No.:10027 E



1s an expansion of FTP

(a) File transfer protocol
(b) File transaction protocol
(¢) File transfer program
(d) File transaction program
Which of the following function key activates the
speller?
(@) F5 (b) F7
(¢ F9 (d) Shift + F7
Where can you find the draw table tool button?
(a) Standard tool bar
(b) Formatting tool bar
(¢) Drawing tool bar
(d) Tables and formatting tool bar
1s an expansion of SQL
(a) Sequential query language
(b) Structural query language
(¢) structured query language
(d) Semantic query logic

Page 3
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10. URL stands for
(a) Unique reference model
(b) Uniform reference model
(¢) Uniform resource locator

(d) Unique resource locater
PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a) Draw a block diagram of a computer and
write the characteristics of it.

Or

(b) Compare mini and micro computer.

12. (a) What are the advantages of having the data
in a database?

Or

(b) Explain the general form of "SELECT"
statement with example.

13. (a) Explain the local Area network with example.

Or

(b) Enumerate the point to point compute
network with figure.

Page4 Code No.:10027 E
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14. (a) Write down the steps for copying and moving
a section of text in MS word.

Or

(b) Describe the method for inserting rows and
columns in Excel worksheet with example.

15. (a) Explain any three protocols for E-mail an
internet.

Or

(b) What are the uses of internet? Describe them.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.
16. (a) Narrate any four input devices in detail.

Or

(b) Analyse the various output devices.

17. (a) Discuss about the major components of
DBMS.

Or

(b) Describe the basic structure SQL .
Page5 Code No.:10027 E



18. (a)

(b)
19. (a)
(b)
20. (a)
(b)

Briefly describe the different types of LAN.

Or
Write about the LAN and VAN in brief.

Explain the important parts of MS word
window.

Or

Describe the steps involved in creating a
chart.

Explain the method for rending and receiving
E-mail with illustration.

Or

Write about the different features in internet
explores.

Page6 Code No.:10027 E



(8 pages)
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B.Sc. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Plant Biology and Plant Biotechnology — Main
PLANT PHYSIOLOGY
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. sreurmsaiic B paTellnE@ s smarons @mULg
(=) elsCsnsams (<) Brmelills Cuns,
@) sagBurad  (w) Bisda
The main cause for movement of water in plants
(a) Photosynthesis (b) Transpiration
(¢) Osmosis (d) Guttation



GerrevGoadleiedlen Cumg @nbHlspES BenLGumSng

<) eranGLmevGromendien

(

(<) edmafigse

(@) erdevmevGLomenien
(

F) LIS
This process occurs during plasmolysis
(a) Endosmosis (b) Imbibition
(c) Exosmosis (d) Diffusion

g&ever  womb  Jolly  GCamlur®  @seen
QaTenLwg

(<1) enGyooid (=) Bir e flepssd

(@) Brreld Cunée () Swel 2 Mlghased
Dixon and Jolly theory is associated with

(a) Ascent of sap (b) Water absorption

(¢) Transpiration (d) Ion absorption

EpsarTLcuDMIET 6TE! HIRTE@DIL L &b

(=) Ca (=) K
(@) Mn () P
Which one of the following is a trace element?
(a) Ca b) K
(¢ Mn d P

Page2 Code No.:10652B



SArlev spnél @miE e Cumdng

(=) ewgl GLmbermgd (<) enwl CLmasmapriflwm
(@) @GarmGrmiermev  (/F) epCunGamb

Kreb’s cycle occurs in

(a) Cytoplasm (b) Mitochondria

(c) Chloroplast (d) Ribosome

gaflaflenaruier Curg @g QeuafludLiL®Eng)
(=1) eaniyeger

(<) @pLygen

(@) amrueT el ,&mav(h

() psatlgan

Which one of the following is released during light
reaction?

(a) Hydrogen (b) Nitrogen
(¢) Carbondioxide (d) Oxygen

Lepanaulledlmbg GupliL@b anmrGomer

(=) <ysedlan (<) SuQreader
(@) s CLrasaflanr () erddladen
Which hormone is obtained from fungi?

(a) Auxin (b) Gibberellin
(¢) Cytokinin (d) Ethylene

Page3 Code No.:10652B



10.

aflsre Hlspeear QgrLr e w Blipl

(=) @CermGrmiermevL

(<) eulCLm@Grmbd

(@) @CrrGwmiermevl

() NwCamlermavl

Pigment associated with photoperiodism

(a) Chloroplast (b) Phytochrome
(¢c) Chromoplast (d) Leucoplast
eleng o m&ssdler Curg Qg baL CLmS DS
(1) elleng eSflwibd @Genmuyb

(<=4) euaTomen eflens 2 (HeumEL

(@) erssLOHD Heuliublanaamu sL_ggiEngl
(FF)  olleng (penerdgHer Flsf&E L0

This takes place during seed dormancy

(a) Reduce seed viability

(b) develop healthy seeds

(¢) overcome unfavourable climatic condition
(d) Increase seed germination

EpsarTLcuDmIET 6Tgl 2 uflmeTer Hreur (LS ?

(1) eafl (=) Qeuliuib

(@) @eflr ()  urdleflwr

Which one of the following is a biotic plant stress?
(a) Light (b) Heat

(¢p Cold (d) Bacteria

Page4 Code No.:10652B
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PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11, (=)
(<)
12. (=)
(<)

GOILEALYS) -
1)  Feua® Ureu®
(i)  ureyse
Write notes on :
(1) Osmosis
(1) Diffusion
Or
Brredls Cursdler auansseaner aflourl.

Explain the types of transpiration.

&GO Ceweourigenar ellifloims er(pg).

Give a detailed account on mechanism of
ascent of sap.

Or
srgissafler psHusgielsams UL iguied(Hs.

List out the importance of minerals.

Page5 Code No.:10652B



13.

14.

15.

(=)

Csurengenw eleré@s.
Explain C4 pathway.
Or
AQrliey &pHé eufuramsamil elamrs.

Give the schematic representation of Kreb
Cycle.

eUeTTES euanaTaney LIL SgIL 6 elleuril.

Explain with growth curve with diagram.

Or
smeur  euemm&Sudled  aliuCreelefler Likiens
T(H5ZIDTES.

Enumerate the role of gibberellin in plant
growth.

GeurrareneGavagem LIHM &MILIGILI(LHS)s.
Write notes on Vernalization.

Or

@aflT eTeueUMn STEUTBIGENET ST&HEGH DI TN
efleul.

Explain how cold stress affects the growth of
plants.

Page6 Code No.:10652B



16.

17.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(=)

sraursded B o MEpaselen  QFwdum e
cleul.

Explain the mechanism of water absorption.

Or

@aesgiener Snli wLHMID PHFD ClFuieduie
umml eflfeurs er(pg.

Explain in detail about opening and closing
of stomata.

Mg, P, K wipd S fu om'
St migefLILSemaTLD, UDD TG
SN GD BT LD LI Ig 1160 (HS.

List out physiological roles and deficiency
symptoms of Mg, P, K and S.

Or

sTeurmsated &M CQUTBLsSET SLSHIS® LD
FSL(HOT UM,

Write an essay on translocation of organic
solutes.
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18.

19.

20.

Hanarsamedladlen @& ellfleurs er(pg.
Write in detail about Glycolysis.

Or
FLPEOT eTO&L_Te Limengenit aflauifl.
Explain non-cyclic electron transport.
gsedlenr  wHOID sl CLrasafllallear  smour
Qewellwed Lk GNSg efleu.

What are the physiological roles of Auxin
and Cytokinin?

Or
aflaresgiald LD @@ sL_(HenT euamys.
Write an essay on photoperiodism.
clleng 2 &sLb Ba@n (pevmsar LHM elleul.

Write an account on breaking of seed
dormancy.

Or

STeurmIsameT LTE&@E0 gCaseid @rearrh 2 ullynmn
ST H6T GDSS SL_(HenT UenTs.

Write an essay on any two abiotic factors
that affects plants.
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(6 pages)
Reg. No. :

Code No. : 10652E Sub. Code : JMPB61

B.Sc. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Plant Biology and Plant Biotechnology — Main
PLANT PHYSIOLOGY
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. The main cause for movement of water in plants
(a) Photosynthesis (b) Transpiration

(¢) Osmosis (d) Guttation



This process occurs during plasmolysis
(a) Endosmosis (b) Imbibition

(c) Exosmosis (d) Diffusion

Dixon and Jolly theory is associated with
(a) Ascent of sap (b) Water absorption

(¢) Transpiration (d) Ion absorption

Which one of the following is a trace element?
(a) Ca b) K

() Mn d P

Kreb’s cycle occurs in

(a) Cytoplasm (b) Mitochondria

(¢) Chloroplast (d) Ribosome

Which one of the following is released during light
reaction?

(a) Hydrogen (b) Nitrogen

(¢) Carbondioxide (d) Oxygen

Page2 Code No.:10652E



10.

Which hormone is obtained from fungi?
(a) Auxin (b) Gibberellin

(c) Cytokinin (d) Ethylene

Pigment associated with photoperiodism
(a) Chloroplast (b) Phytochrome

(¢) Chromoplast (d) Leucoplast

This takes place during seed dormancy

(a) Reduce seed viability

(b) develop healthy seeds

(¢) overcome unfavourable climatic condition

(d) Increase seed germination

Which one of the following is a biotic plant stress?
(a) Light (b) Heat

(¢ Cold (d) Bacteria

Page3 Code No.:10652E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Write notes on :
(1) Osmosis
(1) Diffusion
Or

Explain the types of transpiration.

Give a detailed account on mechanism of
ascent of sap.

Or

List out the importance of minerals.

Explain C4 pathway.
Or

Give the schematic representation of Kreb
Cycle.

Explain with growth curve with diagram.

Or

Enumerate the role of gibberellin in plant
growth.

Page4 Code No.:10652E
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15. (a)

(b)

Write notes on Vernalization.
Or

Explain how cold stress affects the growth of
plants.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)
17. (a)
(b)
18. (a)
(b)

Explain the mechanism of water absorption.

Or

Explain in detail about opening and closing
of stomata.

List out physiological roles and deficiency
symptoms of Mg, P, K and S.

Or

Write an essay on translocation of organic
solutes.

Write in detail about Glycolysis.
Or

Explain non-cyclic electron transport.

Page5 Code No.:10652E



19.

20.

(a)

(b)
(a)

(b)

What are the physiological roles of Auxin
and Cytokinin?

Or

Write an essay on photoperiodism.

Write an account on breaking of seed
dormancy.

Or

Write an essay on any two abiotic factors
that affects plants.
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(8 pages) Reg. No. :

Code No. :10653 B Sub. Code : JMPB 62

B.Sc. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester

Plant Biology and Plant Biotechnology — Main
GENETICS, EVOLUTION AND BIOSTATISTICS
(For those who joined in July 2016 only)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  GQupGpriseflen solUDD SemenLEOWS — SHevrL Dl
2 5L HeLIL|
(=) @pons s (=) Genseoliy
(@) Cesrgaens sty  (FF)  @QrLlenl & sl
This cross helps to find out the purity of gametes
(a) monohybrid cross (b) back cross

(c) testcross (d) dihybrid cross



P(PELWHD ki Semenld @l sranrii(HE g
(1) evUeLLD VLML alLD

(<)) mradlev epamiGuralwim

(@) osmzmev CLTCrLL 6L

(/) Wlpm9elen speoim

Incomplete dominance is seen in

(a) Pisum sativum

(b) Arachis hypogea

(¢) Lathyrus odoratus

(d) Mirabilis jalapa

D&EHTE CarargSled GenamriiLs QzrEdsafien
cTewTemilGam S

(=) 4 (<) 2
(&) 10 () 8
The number of linkage groups in maize
(a) 4 (b) 2
(¢ 10 (d 8

Quarr_allwenr @arstsTansulsd emarsg @ amisafle
e sSetngaitl 6ot @l (HOwrssD Geueummy
QPluiuGEpg)

(1) e Qamfreuflens

(<) Baryaid

(@) 2 meuams griraifleans

(

) GearTLadlwer semser
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The sum total of all genes in a Mendelian
population is known as

(a) gene frequency

(b) gene pool

(¢) phenotype frequency
(d) Mendelian genes

sBICHSBIGET Q) Sl MLOHSIETETS)

(1) 1g.6TE0.6f. (<) eopCurGambser
(@) oTb.yT.cTer.6F (FF)  Yrsmiser
Codons are present in

(a) DNA (b) Ribosomes

(c) mRNA (d) Proteins

God  gupmer  Spsar g 2 ulflawsdea
QewuuBHng?

(=) Gemerid (<) FGamed

(@) sartled () @il Ll L mewfl
Lac operon operates in

(a) Maize (b) E.coli

(¢) Mice (d) Lathyrus odoratus

ewrrsdler ufleammng Carlur® @eas ellersEEE ns)
(=) aupGadlw uearrysafler umpbufub
(@) Quiws Gsiroy
@) 68 wrHpid
()  saflewlur(
Page3 Code No.:10653 B



Lamarck theory explains

(a) The inheritance of acquired characters
(b) Natural selection

(c) Mutation

(d) Isolation

an®Car g afley  s@HorHws  Camiumen
@ ssreursdler eped aflers@SmmT

(=) wrrefim Garmil (<) Freuefln GAMIDEDT6
(@) sarLi edleved (rr)  Qegliui ey ey
Hugo De Vries explained mutation theory in this
plant

(a) Morning Glory (b) Evening Primrose
(¢) Thunder Lily (d) Shepherd’s Purse

WP 6TeTLIG)

(<) wsdu wdoy

(<)) WOEE G®DHS (PED GU(HLD cTeTemtlen Lol
(@) ayrafl

(FF) W& 2Fs (panm eu(HLD eretTemtlen Lol
Mode is

(a) The central value

(b) The least frequent value

(¢) Average

(d) The highest frequent value

Page4 Code No.:10653 B
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10.

11.

Qaeipmer eerm Cgerye Gl eredludler emey
2D

() sy (<) s araim

(@) ws6 () reflevsd

One of the following 1s not a measure of central
tendency

(a) Mean (b) Median
(¢) Mode (d) Standard Deviation

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(@) giamenr Blply e gl (HF Gewe olanerency

N EAGES
Explain supplementary gene interaction.
Or
(<) CerClLeSler Qeumml & me &IT[T GRT Tl &G0 GIT

UL g WSl (H.
List the reasons for Mendel’s success.

(@) et Wevawrienr  GCrmwCamd  GameTenseanw

T(LPSIS.
Write the chromosome theory of linkage.
Or
(=) awmmg  eden@urs — swblepaenws  LTHEEGD
srranflaamer efleurd).

Discuss the various factors affecting Hardy-
Weinberg equilibrium.
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13.

14.

15.

urdl  urgsmiuns  eeud@hd DNA  @rligliy
pananw allersEs.

Explain the semi conservative method of
DNA replication.

Or
wruay GHluiGedler LTy samer UL g wedl(His.
Enumerate the salient features of Genetic
code.
LTreSle $SgIaLD GTaTmTe) cTemem? 6lems@s.
What is Darwinism? Explain.

Or
safleplium( peppento UMM e ellarés @l
GI'@@]GE
Write explanatory notes on Isolation
mechanisms.
&G Qar(@sslul(HETar  rems@Ehs@E MWD
sesE (hs.
21, 12, 37, 74, 63, 89, 48, 55
Calculate the median for the following data.
21, 12, 37, 74, 63, 89, 48, 55

Or

wrdlfleow  emrum. gar  CrrssmiSmaT
UL q el (Hs.

Define Sampling. List its objectives.

Page6 Code No.:10653 B



16.

17.

18.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(=)

grmienml egini@se0 elldlaw ellersEs.
Explain the law of Independent Assortment.

Or
S|eT6| FMTHS I TeTmTe) eTelan? HEhS
> eSS 6 68l 6TéEs5.

What is quantitative inheritance? Explain
with a suitable example.

@\ ratTiq D EwT6 LHMILD @ ek Ese
GQaemorarssle  @Qrem®h W Hw  Blspey —
clleurdlés.

Coupling and repulsion are the two aspects
of a single phenomenon called linkage —
Discuss.

Or
sTeurmsated srewTliL(hidlerm Lime Hlienr cuens
2 grranggien edleufl.
Describe the types of sex determination in
plants citing examples.
yGrmGasNCum_(Hgefle, LOTLIGR)] RIS
Qussssamar elletsdl eT(pg).

Explain the gene regulation mechanism in
prokaryotes.

Or
Page 7 Code No.:10653 B



19.

20.

(<=4)

(=)

aur_gan Hmid Hfld DNA wrdlflenw elleré@s.
Explain Watson and Crick model of DNA.
ufleormng  smemmsaT  gCHEID @ Ty anet
elfleuns er(pg)s.

Elaborate on any two evidences for
Evolution.

Or

shFommmrismer CQsT@ES6EWeIs. Lflarmogsle
Sjeupilen (Pa&HWSFeUSmS all6md @Hs.

Give an account of mutations. Explain its
importance in Evolution.

Qar@ssliul_(Hearer  elaursdng  sreflovsame
sesE (hs.

8,6,7,5,6,10,8,6,7,7

Calculate the standard deviation for the
following data.

8,6,7,5,6,10,8,6,7,7
Or

yerafluweler  vweru@ssiin@Gn  uGeum
cuaswrer Leraflaaner @Mlss efleuns).

Discuss the various types of data used in
Statistics.
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B.Sc. (CBCS) DEGREE EXAMINATION,
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Sixth Semester
Plant Biology and Plant Biotechnology — Main
GENETICS, EVOLUTION AND BIOSTATISTICS
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  This cross helps to find out the purity of gametes
(a) monohybrid cross (b) back cross

(c) testcross (d) dihybrid cross



Incomplete dominance is seen in
(a) Pisum sativum

(b) Arachis hypogea

(¢) Lathyrus odoratus

(d) Mirabilis jalapa

The number of linkage groups in maize

(@ 4 (b) 2

(c) 10 d 8

The sum total of all genes in a Mendelian
population is known as

(a) gene frequency

(b) gene pool

(¢) phenotype frequency

(d) Mendelian genes

Codons are present in
(a) DNA (b) Ribosomes
(¢) mRNA (d) Proteins

Lac operon operates in
(a) Maize (b) E.coli
(¢) Mice (d) Lathyrus odoratus

Page2 Code No.:10653 E



10.

Lamarck theory explains

(a) The inheritance of acquired characters

(b) Natural selection

(¢) Mutation

(d) Isolation

Hugo De Vries explained mutation theory in this
plant

(a) Morning Glory (b) Evening Primrose
(¢) Thunder Lily (d) Shepherd’s Purse

Mode is

(a) The central value

(b) The least frequent value
(¢) Average

(d) The highest frequent value

One of the following is not a measure of central

tendency
(a) Mean (b) Median
(¢) Mode (d) Standard Deviation

Page3 Code No.:10653 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Explain supplementary gene interaction.

Or

List the reasons for Mendel’s success.
Write the chromosome theory of linkage.

Or
Discuss the various factors affecting Hardy-

Weinberg equilibrium.

Explain the semi conservative method of
DNA replication.

Or
Enumerate the salient features of Genetic
code.

What is Darwinism? Explain.

Or

Write explanatory notes on Isolation
mechanisms.

Page4 Code No.:10653 E
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15. (a)

(b)

Calculate the median for the following data.
21, 12, 37, 74, 63, 89, 48, 55

Or

Define Sampling. List its objectives.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

18. (a)

(b)

Explain the law of Independent Assortment.

Or
What is quantitative inheritance? Explain

with a suitable example.

Coupling and repulsion are the two aspects
of a single phenomenon called linkage —
Discuss.

Or

Describe the types of sex determination in
plants citing examples.

Explain the gene regulation mechanism in
prokaryotes.

Or
Explain Watson and Crick model of DNA.
Page5 Code No.:10653 E



19.

20.

(a)

(b)

(a)

(b)

Elaborate on any two evidences for
Evolution.

Or

Give an account of mutations. Explain its
importance in Evolution.

Calculate the standard deviation for the
following data.

8,6,7,5,6,10,8,6,7,7
Or

Discuss the various types of data used in
Statistics.
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B.Sc. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Plant Biology and Plant Biotechnology — Main
PLANT ECOLOGY AND PHYTOGEOGRAPHY
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. cuflemiser cumpd @Qupeswner @D G)eueumm)
SnpssL(HSH g ?
(=) eumpellLib (=) H&
() euart @iy (7))  2ulfs Guwe

The natural place where the organisms or
communities live is called

(a) Habitat (b) niche
(¢) Habit (d) Biome



@upend sruer &pnéuie U@L @rar®h L&
BlEDpen DT

(=) qaflEGergams HmD Hasay

(=) @all&Gaisams HMLD &eUTFD

(@) eaflsGaisens wHmD erfliiy

()  qaflEGargams OHMLD eueTTlens LIHMHLD

What are the two main processes which occur in
natural carbon cycle?

(a) Photosynthesis and decomposition

(b) Photosynthesis and respiration

(c) Photosynthesis and combustion

(d) Photosynthesis and metabolism
sargyaTenilgGeT  LHMID  AneTSFlcTanilaaT @ eemmn)
HBSLILOEDY)

<) 2 pHusSSwmerrger

(

(=) msTCoumiser

(@) wsablere msTGauTTseT

(FF)  @rarmb Hlenaw msTGeuTTSET
Carnivores and omnivores are considered as
(a) Producers

(b) Consumers

(¢) Primary consumers

(d) Secondary consumers

Page2 Code No.:10654 B



sreugmsar —>  GalLmddeor — upmeusear, @g
shE @ 2-pryamd

(1) 2 e uee (<=4) 2 awrey gmidled

(8) =ameyspHs ()  SHDESHP
Plants — Caterpillar — birds is an example of
(a) food web (b) food chain

(¢) food cycle (d) ecosystem

Q@ STEUTD gl ellen@ e L curpell e
Bimeiu®in Gswepenm

(=) e Gu@iliy (<) er&Gsean

(@) Qgrfreuflens (7))  EYGuppb

The process by which a plant or animal becomes
established in a new habitat

(a) 1invasion (b) ecesis

(c) succession (d) colonisation

MOSHETSHET @QhiI@ SmewTIL(HE DG
<) eanl Gymedit

<) eurGomendit

@) eSCymedt

) eaniqyrié LgrLieuflens

~—

(
(
(
(
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Lichens are observed in
(a) Hydrosere

(b) Psammosere

(¢) Xerosere

(d) Hydrach succession

19 6tm6u(mpLD umsle wmssetley Tg) GLIUTLm
GTTMENLP&EILI(HE S ?

(<=1) Cuallevav &liigedav

(=) Cuallawev eanplflilGgGsemav

(@) eSCLrCranmay bl M9&Esamen

(/F)  aSGLrComermav LyjigLm

Which of the following bacterium is called as
superbug?

(a) Bacillus subtilis

(b) Bacillus denitrificans

(¢) Pseudomonas denitrificans

d) Pseudomonas putida

@pdurede 19 6treu (HLD LESseie Qe
uauilflwedler anmevuim

(=) TRsadL 6

(<) Cwh@E Qgriéd weme
(@) Spse Qariss wae
(rF)  sBsTUGTE
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10.

Which one of the following areas in India, is a
hotspot of biodiversity?

(a) Ranganthittu
(b) Western Ghats
(¢) Eastern Ghats
(d) Sunderbans
QUET  GUENSSHET @by  sTramflepw  (WP&HWLDTS
STHG)6Teg)?
(1) 2lrpw sryesi (=) sTHsafen Serey
(@) wrrsefler eugeid (FF)  wF SWTHLLSET
On which factor, forest type is mainly dependent?
(a) Abiotic
(b) Size of the forest
(¢) Shape of trees
(d) Products from the trees
sOIPBTLG® sglyleo srthsedr ebwlubmerer
@L b
(1) QarenL_ssTared (<) cremTEmNT
(@) Q&smeurd (FF)  ser&sm()
In Tamilnadu Mangrove forests are located in
(a) Kodaikanal (b) Ennore
(¢) Pitchavaram (d) Kalakkad
Page5 Code No.:10654 B



11.

12.

13.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(=)

(<=4)

(=)

o Wirssryanflger LPDH  HWHSS  eTpgl. C@Ib
smeur  eueriFSulledy jeumilen LTSI eTemer
CTGTLIG a6 GAl6Td: (3.

Write briefly about biotic components and
their influence on vegetation.

Or
sriruen &pnélenw afleur.,
Describe carbon cycle.
GOTFGHLP6D LOEHTL_ GV &l Gt sLU_Lenwlibenest
clleTé G s.
Describe the structure of a pond ecosystem.
Or
2 TG UG 66T Es5.
Explain food web.
STeur aueTT&Sudleneor SHMISCSTETET
Lwetu®hssuu@L  gCsaid @  (pamenil
elleuflsg er(pg).

Explain in detail any one method used in the
study of vegetation.

Or
Page6 Code No.:10654 B



14.

15.

(<=4)

GHILL eT(ps) -

1)  ellafsrog

(i) gl remog.
Write short notes on :
(1) Synecology

(11) Autecology.

LCwreS&dm LpHl BellT SMbseuDHaD 6T(LHSI.

What do you know about bioleaching?
Or

aSCammUWITL 1q 6V GTETMITED GTEITEH? &b MIFERL60I 6D
Sjeunilen FT&EsD LDHD 6T(LPG).

What are Xenobiotics? Write a brief note on
their impact on environment.

SLOILPBTLIg 6T gCaeniid @ resr(h Sreury
gl LanliLsamer QeuaflsCamenTis.

Bring out any two vegetation types in
Tamil Nadu .

Or

smeuy Yallulwaelen Glametengsaner L igwiedlL(h

&T_(h.

Enumerate the principles of phytogeography.

Page 7 Code No.:10654 B



16.

17.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(=)

smeur  eleriFfludley wewr, eefl, sTHM WOHMID
QpmLkber Lkiang ebleur.

Elaborate on the influence of soil, light, wind
and fire on the influence of vegetation.

Or
BLTae HLMEl HMID DAF6m (P&HELSSHIUSMS
QUG
Outline Nitrogen cycle and its significance.
R G LG OFSS6T LMSBISEMETUD DHMID

ST YDDD  eUllanFsMETU|D 2 FTTETSHSIL 6T
cfleTé G s.

With suitable examples explain the
components and the energy levels of an
ecosystem.

Or

aupet HlawgsTeugmsatien Lm enolil] WLHMID
2 GTETenLOLIL| HHCUMLDSENCD CUITEwT &5

Elucidate the morphological and anatomical
adaptations in xerophytes.

Page8 Code No.:10654 B



18.

19.

(<=1)

srteurs Gsri euflensufenars updl CsrEss)
GI'Q.Q@_IGE

Give an account of the general process of

succession.

Or
sTeur 2 ewanilgem eumpeil  euansLILIT(HhEeer
G MIS.

Give the classification of communities based

on the unit of vegetation.

Quelgg wCurQrogCuayesr LPD
FSL(HeOT aUDTE.

Write an essay on insitu bioremediation.

Or
(GIEE-T
1O 2uwflw o e
(1) 2ulflwe Elliumer.
Write notes on :
(i) Biosensors

(i1) Bioindicators.

Page9 Code No.:10654 B



20.

(=)

Qgrene 2 awrmellenan DO e sL(Hevy 6T,

ST(HSET Cwererenoudled
LWeTUT(H&SEMET S(Hs.

Write an essay on remote sensing and its

application in forest management.
Or

An @Oy euenrs :

(1) s FMGSH60

(1)  Guelweyy.

Write short notes on :

(1) Continental drift

(i1) Endemism.

Page 10 Code No.: 10654 B
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. The natural place where the organisms or
communities live is called
(a) Habitat (b) niche
(c) Habit (d) Biome



What are the two main processes which occur in
natural carbon cycle?

(a) Photosynthesis and decomposition
(b) Photosynthesis and respiration
(¢) Photosynthesis and combustion

(d) Photosynthesis and metabolism

Carnivores and omnivores are considered as
(a) Producers

(b) Consumers

(¢) Primary consumers

(d) Secondary consumers

Plants — Caterpillar — birds is an example of
(a) food web (b) food chain
(¢) food cycle (d) ecosystem

The process by which a plant or animal becomes
established in a new habitat

(a) 1invasion (b) ecesis

(c) succession (d) colonisation

Lichens are observed in
(a) Hydrosere

(b) Psammosere

(¢) Xerosere

(d) Hydrach succession
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10.

Which of the following bacterium is called as
superbug?

(a) Bacillus subtilis

(b) Bacillus denitrificans

(¢) Pseudomonas denitrificans

(d) Pseudomonas putida

Which one of the following areas in India, is a
hotspot of biodiversity?

(a) Ranganthittu

(b) Western Ghats

(c) Eastern Ghats

(d) Sunderbans

On which factor, forest type is mainly dependent?
(a) Abiotic

(b) Size of the forest

(c) Shape of trees

(d) Products from the trees

In Tamilnadu Mangrove forests are located in
(a) Kodaikanal (b) Ennore
(¢) Pitchavaram (d) Kalakkad
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

Write briefly about biotic components and
their influence on vegetation.

Or

Describe carbon cycle.
Describe the structure of a pond ecosystem.

Or
Explain food web.
Explain in detail any one method used in the
study of vegetation.
Or
Write short notes on :
(1)  Synecology
(11) Autecology.

What do you know about bioleaching?

Or

What are Xenobiotics? Write a brief note on
their impact on environment.

Page4 Code No.:10654 E
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15. (a) Bring out any two vegetation types in
Tamil Nadu .

Or
(b) Enumerate the principles of phytogeography.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a) Elaborate on the influence of soil, light, wind
and fire on the influence of vegetation.

Or
(b) Outline Nitrogen cycle and its significance.
17. (a) With suitable examples explain the

components and the energy levels of an
ecosystem.

Or

(b) Elucidate the morphological and anatom.ical
adaptations in xerophytes.

18. (a) Give an account of the general process of
succession.

Or

(b) Give the classification of communities based
on the unit of vegetation.
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19.

20.

(a)

(b)

(a)

(b)

Write an essay on insitu bioremediation.

Or
Write notes on :
(1) Biosensors
(11) Bioindicators.

Write an essay on remote sensing and its
application in forest management.

Or

Write short notes on :

@
(i)

Continental drift

Endemism.
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Code No.:10660 B Sub. Code : JMPB 6 B

B.Sc. (CBCS) DEGREE EXAMINATION, APRIL 2020.
Sixth Semester

Plant Biology and Plant Biotechnology — Main
ENVIRONMENTAL BIOTECHNOLOGY
(For those who joined in July 2016 only)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer
1.  @Camréor  Qepedn  ESHHIEISHE — LUTEILTS
o LCWrsLURSSILHE DS ?
(=) ererOents s&eyser
(<) ser 2 Caonsmiger
(@) ewanl Crrsmirueger
() &l sley



Chlorella sps are widely used in the removal of

(a) Oil spills (b) Heavy metals

(¢) Hydrocarbons (d) Organic wastes
sLe B womb poe Bfld qeafl 2 Opsd eped
D& ST SETL_HleLenS (P (PSedled
vweru(hsSlweurr

(=) Qatigmen HMILD eHL9 6T

(<) api-aiss

(@) nmenwwr wHmib FhSHrGomsen
() Bluebgerm HMID @mrevlg Bl

The determination of pollutants in marine water
and fresh water using Bioluminescence test was
first used by

(a) Gaffron and Rubin
(b) Guy-Lussac

(¢) Ramaiah and chandramohan

(d) Nealson and Hasting

o W4T eumuy 2 HUSHEE, 2-&hs CelliLiblane
(1) 30-40°C (<) 37-55°C
(@) 20-30°C ()  50-60°C
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Desirable temperature for the production of

Biogas
(a) 30-40°C (b) 37-55°C
() 20-30°C (d) 50-60°C

Wo -GCUTTAWT Hméserat Fmibg @&H DD

(1) <9rdGLS (=) WeCurmaCwél
(@) emAGwS ()  wreGeaud
Euphorbia tirucalli belongs to the family

(a) Orchidaceae (b) Euphorbiaceae
(¢) Rubiaceae (d) Malvaceae

sfley Bilgyerer BOD-er <jarey @sealer Ggmiy
Qs memTL_g)

(o) ursleflungsafen crewrentléams

(=) sflwl Qurmersafler eramanflEanas

(@) saflbl Qummersaflen cramanflEamns

()  Cule QsrhH&siLl (HETer réemLd

The magnitude of BOD of waste water is related is
(a) Bacterial count

(b) Amount of organic material

(¢) Amount of inorganic material
(d) All the above
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Sl ewTenamt LTHMH &S LweTU (B (Lpenm
(=) saweaumdy @Ose0 (<) usb Cargze

(@) usbsmaT 2 TOHsL (FF)  WobsHameCaager

The method used for the reclamation of acidic soils
(a) Limig

(b) Additional of Gypsum

(¢) Green manuring

(d) Algalisation

&Gy Qasrhssliul(Herer orhg maramudfl o ullieulfls
Ernsssdle LweTLHSSILHEDS?

(=) QuwssCarmurgie b

(<=4) Sermenigifliguib

(@) @LrCwrearmev

(/)  ursleMGuremen ()

Which of the following microbe is used in
Bioremediation

(a) Methanobacterium (b) Clostridium

(c) Pseudomonas (d) Bacteriocides

Baranuifsamers — Csmawr® — earamClanmiis  sle]
fang556 @eueurm Senpssiiu(HSng)?

(<) g @aibsd

() eaigs’ (Hze

(@) 2ulflwe Siay

()  meapuii B&sb Qalige
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10.

The use of micro organisms to degrade oil spills is
called

(a) Sedimentation (b) Filtration

(¢) Bioremediation (d) Sterilization

Gemeu(pd eThg LSS Glg.6) QUM (P(PHS OETSETTE
Camemplin(HEma?

(<) CHa (<) COg

(@) NOg () CFCs

Which of the following green house gas in entirely
anthropogenic in origin?

(@ CH, ®) CO,

(© NO, (d CFC;

paflEFCaisamns dls eraliler reurmsaics penLGLME
SITTGTLD

(1) usRIGlG clanera]

(<) MO LIKL(HSED

(@) <dewenp

()  eBLIR6T H&me (H&HET

Increased photosynthetic rate is reported in plants
due to

(a) Green house effect (b) Air pollution

(¢) Acid rain (d) Oxides of nitrogen
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11.

12.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(=)

&M W& P60 an e SETSHTEmTSHS a0 60 2 udlfu
o anriludlenr Likiana efleurl.

Describe the role of biosensors in pollution
monitoring.

Or
sHmEGpe 2ulfls  Csmfled  miueSuieden
Crrsssans efleu.

Discuss the scope of environmental
biotechnology.

2 Wiflwe  apeppuldled emamlgemer  uimtlliuglen
PESEWUSFHUSDS H(H.

Give the importance of biological production
of Hydrogen.

Or
gear sl Lmoands@ CulCrmellwg smeurd  eren
Slwln®dng?  sar Wi Iwusgeumns
CT(LPSIS.

Why is Jatropha curcas widely known as
petroleum plant? Give its importance.
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13.

14.

15.

(=)

LOGWT LITEISTLIL| GTEITDTED 6T6T6n? 6l 6 (8.
What do you mean by soil conservation?
Explain.
Or
Qarl_(® B euig s ig LHP HHESLOTSE 6T(LpF).

Write short notes on Trickling filters.

&SI Ble Blrlyge updl elfleuns er(pg.
Write briefly about sanitary land fills.

Or
o2 ulflwed  Sredlled  wHAwWE® WLIHOD  epevDd
2 (heumssluL L mieramiudfuller Likiens afleurs).

Discuss the role of genetically engineered
micro organisms in bioremediation.

@Gamen UL  Gope UhsoTeD WalSalsa
FOUBIL eNenaTe &6 cTemen?
What are the effects of ozone depletion on

human beings?
Or

Gudlwed Cgrame o eauiefler LweTUT(H&ET
GOS8 (955,

Enumerate the applications of remote
sensing in ecology.

Page7 Code No.:10660 B



16.

17.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)

Each answer should not exceed 600 words.

(=)

or& 2 Uit sarsranllssiu@eugnarear LoGCaum

Slere|CamgEamar UL iq w16l (Hs.

List out various criteria for biomonitoring of
pollution.

Or
FHMIEFS P66 2iiq LILIanL_& Famsenar afleul.
Describe the basic components of the
environment.
2 M erflaumy  seeaflen  cumssear  HMILD

SiemwLlienUl 65leTEEs.

Explain about the types and structure of
biogas plants.

Or
emanl yCrramueafley Qmbg SsCs6m 2 (Haumsead
umMlé sL_(HenT eT(pg.
Write an essay on methane production form
hydrocarbons.

Page 8 Code No.:10660 B



18.

19.

20.

(=)

sflay B &sHaMiy Lpd e sL_OenT eT(ps.
Write an essay on sewage treatment.
Or

Blenawimer Ceuermanr Gevmamentn LHP edllfleurs

cAlemd: @s.
Explain in detail about the sustainable
agricultural management.
Ssafla) Coerarennd &Hss edleurs.
Discuss about solid waste management.
Or

Un&@GHpe 2 ulfeufl&rmsasd GMsg s (Henr
CT(LPGIS.

Write an essay on Ex situ bioremediation.

LSMO&GIG  aleneTe]sasTear  STIausamsLd
Ssamensd SL(HULOHSHID eUPEDEET &S0
&S (HenT] GT(LPGIS.

Write an essay on the causes of Green house
effect and the measures to control it.

Or
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(=) Ao EHlOY s@®s -
1) e wenp
(i) yel QeuliubwibIS6.
Give a short note on :
(1) Acidrain

(11)) Global warming.
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(6 pages) Reg. NO.iueeeeecceeeeeccnnneen.

Code No.:10660 E  Sub. Code : JMPB 6 B

B.Sc. (CBCS) DEGREE EXAMINATION, APRIL 2020.
Sixth Semester

Plant Biology and Plant Biotechnology — Main
ENVIRONMENTAL BIOTECHNOLOGY
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer
1. Chlorella sps are widely used in the removal of
(a) Oil spills (b) Heavy metals

(¢) Hydrocarbons (d) Organic wastes



The determination of pollutants in marine water
and fresh water using Bioluminescence test was
first used by

(a) Gaffron and Rubin
(b) Guy—-Lussac

(¢) Ramaiah and chandramohan

(d) Nealson and Hasting

Desirable temperature for the production of

Biogas
(a) 30-40°C (b) 37-55°C
() 20-30°C (d) 50-60°C

Euphorbia tirucalli belongs to the family
(a) Orchidaceae (b) Euphorbiaceae

(¢) Rubiaceae (d) Malvaceae

The magnitude of BOD of waste water is related is
(a) Bacterial count

(b) Amount of organic material

(¢) Amount of inorganic material

(d) All the above
Page2 Code No.: 10660 E



10.

The method used for the reclamation of acidic soils
(a) Limig

(b) Additional of Gypsum

(¢) Green manuring

(d) Algalisation

Which of the following micro be is used in
Bioremediation

(a) Methanobacterium (b) Clostridium

(¢) Pseudomonas (d) Bacteriocides

The use of micro organisms to degrade oil spills is
called

(a) Sedimentation (b) Filtration

(¢) Bioremediation (d) Sterilization

Which of the following green house gas in entirely
anthropogenic in origin?

(a) CH, (b) CO,

(¢ NO, (d) CFC;

Increased photosynthetic rate is reported in plants
due to

(a) Green house effect (b) Air pollution
(¢) Acid rain (d) Oxides of nitrogen

Page3 Code No.: 10660 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

()

(b)

()

(b)

(a)

(b)
(@)

(b)

Describe the role of biosensors in pollution
monitoring.

Or

Discuss the scope of environmental
biotechnology.

Give the importance of biological production of
Hydrogen.

Or

Why is Jatropha curcas widely known as
petroleum plant? Give its importance.

What do you mean by soil conservation?
Explain.

Or
Write short notes on Trickling filters.
Write briefly about sanitary land fills.

Or
Discuss the role of genetically engineered

micro organisms in bioremediation.

Page4 Code No.: 10660 E
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15. (a)

(b)

What are the effects of ozone depletion on
human beings?

Or

Enumerate the applications of remote sensing
in ecology.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

18. (a)

(b)

List out various criteria for biomonitoring of
pollution.

Or

Describe the basic components of the
environment.

Explain about the types and structure of
biogas plants.

Or

Write an essay on methane production form
hydrocarbons.

Write an essay on sewage treatment.

Or

Explain in detail about the sustainable
agricultural management.
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19.

20.

(@)

(b)
(a)

(b)

Discuss about solid waste management.

Or

Write an essay on Ex situ bioremediation.

Write an essay on the causes of Green house
effect and the measures to control it.

Or
Give a short note on
(1) Acid rain

(i1) Global warming.
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Code No.:10835 B Sub. Code : SMBO 61
B.Sc. (CBCS) DEGREE EXAMINATION,
APRIL 2020.
Sixth Semester
Botany — Main
PLANT PHYSIOLOGY
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Brsdlelled Bir @ser epeod @p&siiLihEng
(=1) CeangGlga (<) aanLCorlh
(@) oy () Qevasgianar
During guttation water is lost through
(a) Lenticel (b) Hydathode
(¢) Vein (d) Stomata



ECp Qamhssiul(Herer ohg jweafll Qaeosgemar
BaTedlHE LweaTLhEHmg

(=) Mg? (=) CF

(@) Ca’ () K

Which is the ion believed to be responsible for the
movement of stomata?

(a Mg* (b) CI-

(c) Cat* d K*

Genamrii] — @) (pelleng Camum’ (HLer QST jenLuwig)
(1) Brreild Cumdg (<)) FauTdgsd
(@) oaflEGsrsams ()  arGropLd
Cohesion — tension theory is related to

(a) Transpiration (b) Respiration
(¢) Photosynthesis (d) Ascent of sap
&CerrCrmélen eremig

(1) GMOSEET LDEhFETTEUS

(=) @ emaaer 2 glieug)

@) Gewsdr apdia

(FF)  seaw(® Berons cuerieug

Chlorosis is

(a) Yellowing of leaves

(b) Falling of leaves

(c) Maturation of leaves

(d) Etiolation of stem
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ING) Glatie:ns CPOEHFa) 2 enL_eudleanmed
2 HUSHWMGLD 61919 epavssamisafler eramanflEans

(=1) 40 (<) 38

(@) 30 () 37

The number of ATP molecules synthesized due to
the breakdown of a glucose molecule is

(a) 40 b)) 38
() 30 (d) 37

STy spndl Qdld perLLumdng

(=) gl GLmlermgd (<) enwl CLrarapriflwm
(8) wvéemswid () Qe seuir

Kreb’s cycle occurs in

(a) cytoplasm (b) Mitochondria
(¢) Chloroplast (d) Cellwall

&G Qar(hasliul_(Herer 6rg) <, dedlen?
(=) wrs ed

(=) ooemL(HellE levDd

(@) QarCLme-3-flliqsd ileid
()  Udd& ilevd

Which of the following is an auxin?
(a) Malic acid

(b) Pyruvic acid

(¢) Indole-3-acetic acid

(d) Abscisic acid
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10.

sreugmsemer GaflT Hlevvd@ 2 LHSS e ameusELd
Ca

(1) gaflssTSEI0ID (=) el BILL LD

(@) slulugerd (FF)  euemyL&&WD
Induction of flowering by low temperature is

(a) Photoperiodism (b) Phototropism

(c) Vernalization (d) Dormancy

Cur_GLmAermevig s eSlangser (LpeneTdHs

CoanauiL(BSmg.

(=1) earsm gparl (<) Sautiy gafl

(@) emeueLl garfl () qafl Caemaeuuddvena
Photoblastic seeds require ——— for
germination.

(a) Blue light (b) Red light

(¢c) Violet light (d) No light

greymisaflad o ul@meter  2AWESSIDG @G
T(HSZIEETL(h &(HS.

(@) umbigAum (<) v

(@) eupl& ()  Qeuliud
Give an example for biotic stress in plants.
(a) Bacteria (b) Salt

(¢) Drought (d) Heat

Page4 Code No.:10835 B
[P.T.O.]



11.

12.

13.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(=) Feuap® Lreld LD GHLIL euamrs.
Write notes on Osmosis.
Or
(<) s8ay B gaflgsa upd afleur.
Describe guttation.

(o) greurmiseiley seflo 2 liysear o MlEprliuBib

Blapaned alems@s.

Give an account of the mechanism of

absorption of mineral salts by plants.

Or

(=) @owy  wHgb  HHsETED  CuraETDeIDDlEN
GDUITL g TTed STEUTBISET 6 CamemmiLd

LDDTSE@E®D HPGHISEAT UHDl eT(LHEIs.

Write about the deficiency symptoms of Iron

and Zinc.

(=) FPed TS ITe SLSFHIHH LOHMID &P  eparfl

umevumflgrentd LUHH GOILIL cuemys.

Write notes on cyclic electron transport and

cyclic photophosphorylation.
Or

(=) semarsdsmedladlen LD HHEsLTES allenwalfl.

Give a brief account on Glycolysis.
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14. (=)

15. ()

sflin@redadlen eumpeflwicd LikiE Ll 6laTs @s.

Explain  the physiological  role of
Gibberellins.

Or
gaflssrasgeisder SjgliLmLuie Freurmiger
auamslILhSsLIUL(HeTerens afleuil.
Describe classification of plants according to
photoperiodism.
vy  2psssns  Bés QeruHm L@
(PdDEMETL LD 6T(LpS)Is.

Write about the methods of breaking seed
dormancy.

Or
2_udl(meer j(p&sb LM Slm GOILIL euenys.
Write short notes on biotic stress.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (=)

B 2 Mlepasdler Qawed musams LHP 6flfleimer
aflenL_wierfl.

Give a detailed account on mechanism of
absorption of water.

Or
Page6 Code No.:10835 B



17.

18.

19.

(<=4)

Brreills Cumsdlenr Gungl Qevasgiamer (pigsH
Smgsme ellers@b Camumhger LHml elleurl.

Describe various theories, which explain the
mechanism of opening and closing of
stomata.

STEUBISET 6 silwGLmmLger HLGFHE0
penenw afleur.

Describe the mechanism of translocation of
organic solutes in plants.

Or

snGrpmsdler Ceweml ubd  undl  eSfleuren
fenL_wiafl.

Describe in detail about the mechanism of
ascent of sap.

Cs s1pmél — efleur.

Describe Cs cycle.
Or

gilien spmélufener ebleu.

Describe Kreb’s cycle.

paflssrosgeusded el CLm@Grmbasetien Limki@
LHD 6T(LHSIS.

Write about the role of phytochromes in
photoperiodism.

Or
Page 7 Code No.:10835 B



20.

(<=4)

(=)

s ULILSETD GHSE @ SL_(HenT U s

Write an essay on vernalization.

elleng 2 M&&D eTammed eTemen? llang 2 M&EHSMS
2 L M&@LD srranflaer LMl eT(pgis.

What is seed dormancy? Write the factors
that cause seed dormancy.

Or
o2 iy wompw  CdelugdnE  sreurmsafler
erdlieyemriey @& edlfleurer alenwiarfl.

Give a detailed account on response of plants
to salt and heat.
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(6 pages)
Reg. No. :

Code No. : 10835 E Sub. Code : SMBO 61

B.Sc. (CBCS) DEGREE EXAMINATION,
APRIL 2020.

Sixth Semester
Botany — Main
PLANT PHYSIOLOGY
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. During guttation water is lost through
(a) Lenticel (b) Hydathode

(¢) Vein (d) Stomata



Which is the ion believed to be responsible for the
movement of stomata?

(a) Mg* (b) Cl-
(¢ Ca* (d K

Cohesion — tension theory is related to
(a) Transpiration (b) Respiration

(c) Photosynthesis (d) Ascent of sap

Chlorosis is

(a) Yellowing of leaves

(b) Falling of leaves

(¢) Maturation of leaves

(d) KEtiolation of stem

The number of ATP molecules synthesized due to
the breakdown of a glucose molecule is

(a) 40 (b) 38

() 30 (d 37

Kreb’s cycle occurs in
(a) cytoplasm (b) Mitochondria

(¢) Chloroplast (d) Cellwall
Page2 Code No.:10835 E



10.

11.

Which of the following is an auxin?
(a) Malic acid

(b) Pyruvic acid

(¢) Indole-3-acetic acid

(d) Abscisic acid

Induction of flowering by low temperature is
(a) Photoperiodism (b) Phototropism

(¢) Vernalization (d) Dormancy

Photoblastic seeds require

germination.
(a) Blue light (b) Red light
(¢) Violet light (d) No light

Give an example for biotic stress in plants.
(a) Bacteria (b) Salt
(¢) Drought (d) Heat

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a) Write notes on Osmosis.
Or
(b) Describe guttation.

for
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12.

13.

14.

15.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

Give an account of the mechanism of

absorption of mineral salts by plants.

Or

Write about the deficiency symptoms of Iron

and Zinc.

Write notes on cyclic electron transport and

cyclic photophosphorylation.

Or

Give a brief account on Glycolysis.

Explain  the physiological  role  of
Gibberellins.

Or

Describe classification of plants according to

photoperiodism.

Write about the methods of breaking seed

dormancy.

Or

Write short notes on biotic stress.

Page4 Code No.:10835 E
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16.

17.

18.

19.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Give a detailed account on mechanism of
absorption of water.

Or

Describe various theories, which explain the
mechanism of opening and closing of
stomata.

Describe the mechanism of translocation of
organic solutes in plants.

Or

Describe in detail about the mechanism of
ascent of sap.

Describe Cs cycle.

Or
Describe Kreb’s cycle.

Write about the role of phytochromes in
photoperiodism.

Or

Write an essay on vernalization.
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(a)

(b)

What is seed dormancy? Write the factors
that cause seed dormancy.

Or

Give a detailed account on response of plants
to salt and heat.

Page6 Code No.:10835 E



Reg. No. :

Code No. : 10830 E Sub. Code : SMBO 22

B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Second Semester
Botany — Main

CELL BIOLOGY AND EMBRYOLOGY OF
ANGIOSPERMS

(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  The plant cell consists of

(a) cellulose (b) pectin
(¢) lignin (d) fat

2. Ribosome will yield
(a) protein (b) fat

(¢) vitamin (d) mineral



is called as power house of cell.
(a) Mitochondria (b) Chloroplast

(¢) Nucleus (d) Chromosome

Robert Brown discovered .
(a) Nucleus (b) Mitochondric
(¢) Chloroplast (d) Ribosome

Cystolith are seen in
(a) Ficus (b) Lily
(¢) Pisum (d) Nelumbo

Raphids are seen in
(a) Palm (b) Lily
(¢) Pisum (d) Ficus

Microsporangium consists of

(a) Microspore (b) Megaspore
(c) Both (d) None of these

Polygonum type belongs to
(a) Monosporic (b) Bisporic
(¢) Trisporic (d) Multisporic

The type of ebdosperm are

(@ 3 b 4
© 5 d 6
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10.

11.

12.

13.

14.

15.

The fusion of pollen and ovum

(a)
(©

Fertilization (b) Pollination
Separation (d) None of these

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)

Write a note on structure of plant cell.
Or

Comment on plasma membrane.

Draw the structure of Mitochondria and
Label.

Or
With suitable diagram explain nucleus.
Write a note on cystolish.

Or
Describe the types of Meiosi’s.

Comment on Megaspore.
Or
Describe about the female gametophyte.

Write about the concept in Double
fertilization.

Or

Comment on nuclear endosperm.
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16.

17.

18.

19.

20.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

Write an essay about plant cell wall.

Or

Explain about the structure and functions of
ribosomes.

Write in detail about structure and functions
of chloroplast.

Or

Write about the chromosomes and explain.

Explain  about the non-living plant
inclusions.

Or
Describe about the Mitosis.

With suitable diagram explain the structure
of Microsporangium.

Or
Write in detail about embryosac.
Write about the Dicot embryo.

Or
Write an essay about endosperm.
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Code No.:10830 B Sub. Code : SMBO 22

B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Second Semester
Botany — Main

CELL BIOLOGY AND EMBRYOLOGY OF
ANGIOSPERMS

(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :
1. sreur Qga ergemme HlapmbgiaTarg
(=1) OQaevgyCeavmen (=) Qudigen

(@) sefler (FF)  Qamupliy

The plant cell consists of
(a) cellulose (b) pectin
(¢) lignin (d) fat



apCurCamd epeid Brbd Cumieg)

(=) yrsb (<) Camepuy
(@) @auLiflen (™) g
Ribosome will yield

(a) protein (b) fat

(¢) vitamin (d) mineral
erflggs Hleneowiid WIm(HLD.

<) el GLramapr_fwm

) UsRIsalE0D

B¢

&®

(
(
(
(m)  ECmGLrGen

1s called as power house of cell.
(a) Mitochondria (b) Chloroplast

(¢) Nucleus (d) Chromosome

gl G yedler erganen sevTLPlbSmT

(=) sm (=) el GLmamer_flwim
(@) ushsalsD (7)  eorCurGemd
Robert Brown discovered
(a) Nucleus (b) Mitochondric
(¢) Chloroplast (d) Ribosome
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Savl_CLmedlg 6@, smewTliL(HLd

(1) evus6L (<=1) Sevedl
(@) eusb ()  QpabCGum
Cystolith are seen in

(a) Ficus (b) Lily

(¢) Pisum (d) Nelumbo
TTEOLIL_GV&ET 6TMhIE) STeurL L (D

(1) uewen (<) eSlevedl
(@) ewusgb ()  evusev

Raphids are seen in

(a) Palm (b) Lily

(¢) Pisum (d) Ficus
awsCrmevGumFmEhswLd Ol meuTL_g).
(=4) sawamep (=) wreigs

(@) Qe @rearHind (F)  ergie|leeme

Microsporangium consists of

(a) Microspore (b) Megaspore
(c) Both (d) None of these
LTSl CamantSSlan eUuans eTeng FMTHSS

(=) CorCGerm (<) @rlen

(@) epouens (F) LS
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10.

11.

Polygonum type belongs to
(a) Monosporic (b) Bisporic
(¢) Trisporic (d) Multisopric

TaTGLTeVEUMD THHENET eUamSSLILI(HID?

(1) 3 (<) 4

(@) 5 () 6

The type of ebdosperm are

(@ 3 (b) 4

© 5 d 6

Cumeer HmID ealld @eeammalg :
(<) s@almse () werbstsisams
(@) WYfse () erglayLslevenen
The fusion of pollen and ovum

(a) Fertilization (b) Pollination

(¢) Separation (d) None of these

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.
(1) smeur Gee anlienu LHMl Sm GHILL eT(pgIs.
Write a note on structure of plant cell.

Or
(<)) Waermeviom seue| LHD eT(LPGIS.
Comment on plasma membrane.
Page4 Code No.:10830B
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12.

13.

14.

15.

(=)

(<)

el CLrsmapr_flur  LLD  eueybg — UTEHD

CT(LPSIS.
Draw the structure of Mitochondria and
Label.

Or
o I smedlerm cuanphgl 646rsEs.

With suitable diagram explain nucleus.

Flevl CLmellg LM eT(Lpgis.
Write a note on cystolish.
Or

Blwrélev cuensseaner 6leréEs.

Describe the types of Meiost’s.

QusmenGumT LumMl eT(ps)s.
Comment on Megaspore.
Or
Quesr GCallCLma.enuil LhMl allemd@s.
Describe about the female gametophyte.

gL s@ssisse LDl Tgis.
Write about the concept in Double
fertilization.

Or
Blupgetlwmt erarGLmenCLmd ubml eT(ps)s.
Comment on nuclear endosperm.
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16.

17.

18.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(<)

(<)

smeur ga seum LHD SL_(HepT eT(LPS)Is.
Write an essay about plant cell wall.
Or

arGurCamd  oenwliL  LOMID  LILIETSEDET
cAlemd: @s.

Explain about the structure and functions of
ribosomes.

usmsafllsd  enwly  womb  Ceumesamer
CT(LPSIS.

Write in detail about structure and functions
of chloroplast.

Or
@&CrmCurGembaaer LIDD &L_(HenT 6T(LHS)s.
Write about the chromosomes and explain.
2 ullrHm sreur Cgaw Carsans LDD 6T(LPS)s.
Explain about the non-living plant inclusions.
Or
el Lmélev LpM edleTéEs.

Describe about the Mitosis.
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19.

20.

(=)

aw&CrTenCUTTTERSWbD el Ll G|l 6

aleul.

With suitable diagram explain the structure
of Microsporangium.

Or
smUamLILder enoliL) LHl ellerdEs.
Write in detail about embryosac.
@ ellengulleaned Freury & LHMl 6T(Lps)s.
Write about the Dicot embryo.

Or
eramGLmev@uTd UHl SL_(Hen T eT(PGIs.

Write an essay about endosperm.
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2020.

Fourth Semester
Botany — Main
MICROBIOLOGY AND TECHNIQUES IN BIOLOGY
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. Bergy classification explains
(a) Bacteria (b) Fungi
(¢) Virus (d) All of above
2. Whittaker’s Kingdom of classification contain
(@ 5 (b) 6
(¢ 3 d) 2
3. HIV is
(a) Virus (b) Bacteria

(¢) Fungi (d) All the above



10.

T4 denotes
(a) Bacteriophage (b) Virus

(¢) Fungi (d) All of the above
The temperature for pausterization is

(@ 72 (b) 173

(c) 174 d 75

Rhizopus are seen in
(a) Bread (b) Laddu
(¢) Jangery (d) None of the above

The success rate for MRI is

(a) 100 (b) 98.2
() 96.2 (d 90
1s used to separate plant cell
organelles.
(a) Centrifuge (b) ECG
(¢ MRI (d) Sonography

Agarose are used to identify
(a) DNA (b) RNA
(¢c) Protein (d) Lipid

White light are used to see
(a) Protein (b) Lipid
(cc DNA (d RNA
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11.

12.

13.

14.

15.

Answer ALL questions, choosing either (a) or (b).

PART B — (5 x 5 = 25 marks)

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)

Outline the Whittater’s classification.
Or

Write down the structure of Bacteria.

Explain about the purification of Virus.

Or

With  suitable diagram  explain
bacteriophage.

Write a short note on Food Poisoning.

Or

Explain about the water pollution.

Write a note on ECG.
Or
Explain about the MRI.
What do you mean by electrophoresis?

Or

Explain about the Gel documentation.

Ty
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16.

17.

18.

19.

20.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Describe about the reproduction in bacteria.

Or
Describe the outline of Bergey classification.

Write a short note on :
(1) Viroids
(11)  Virion.

Or

Describe the structure and reproduction of
HIV.
Explain about the food preservation.

Or

List out the role of bacteria in milk products.

Describe about the position emission
tomography.

Or

Explain the working mechanism of
UV-Spectrometer.

Write in detail about PAGE.
Or

With neat diagram write a note on types of
electrophoresis.
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